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(English Version)

Note : |
First 15 minutes are allotted for the candidates to read the question paper.

" Il i

The question paper IS divided into two parts — Part A and Part B.
Part Aand Part Bare divided into three sub-sections 1, 2 and 3.
In Part A of the question paper, there are Multiple Choice Type Questions. ._Sekct
the correct alternative and then by a blue or black ball point pen, fill completely in the

circle in OMR Answer-Sheet. Do not erase, cut or use whitener on the OMR

Answer-Sheet after answering.
1 mark is allotted to each question in the multiple choice type questions of Part A.

(i
(i)

T

fv)
(vi) Part B has descriptive questions.

(vii) The allotted marks are given in each question.
(viii) All the questions of Sub-Sections of Part B are to be attempted all at a time. Start each

Sub-Section from a new page.
(ix) All questions are compulsory.

Part A
Sub-Section 1
Multiple Choice Type Questions :
1.  Which mirror should be used \form to an apparent and enlarged image of an
object ?
(A) Convex (B) Concave
(C) Plane (D) None of the above
2.  Which lens should be used form an apparent and enlarged image of an object ?
(A) Convex (B) Concave
(C) Plane " (D) None of the above
3. The reason for the blue colour of the sky is :
(A) Reflection (B) Refraction
(C)  Scattering (D) Dispersion
4.  The speed of light is maximum in :
(A)  water (B) glass
(C) diamond - (T vacuum
824 (IL) .
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in a series
nt values of resistance are connected

If three resi of diflere | definitely have the same value ol

combination, then all of them wil ' ;
(A) Potential difference between their en

(B) Amount of heat produced in them
(C) Electric current flowing through them

(D) None of the above

In an electrical circuit, the unit of
resistance is :

(A) Ohm

5.

ds of a
potential difference between the en 1

(B) * Ampere

(C) Volt (D) Watt

; in
In a magnetic field, the direction of the force acting on a current ca@ g

conductor perpendicular to the field is :
(A) Parallel to the direction of magnetic field

(B) Parallel to the direction of current flowing in the conductor

(C) Perpendicular to both these directions

(D) None of the above
' Sub-Section 2

8.  General formula of alkanes is
(A) CnH2D_2
((.3} CnHZn

(B) C,Hy,s
(D) C,H,

9.  Homologous series in the following are :
(i) C,H, and CH,
(iii) HCHO and CH4CHO (iv) C,HsOH and CH3OCH3
The correct option in context of the above is :

(i) CH4OH and CHyCHO

(A) (1) and (ii) (B) (1) and (iv)
(C) (i) and (iv) . (D) (i) and (iii)

10.  Which of the following metal forms hydrogen gas with cold water °

(A) Copper (B) Gold (C) Potassium (D) Aluminium
824 (iL) | 8
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1.

Solution having zero pH is :

1A} acidic (B) alkaline
(() neutral (D) None of the above
12.  Which of the following compound is formed by combining CO, and Hy0 in the
presence of sunlight and chlorophyll ?
Ay Glucose (B) CHCl,
() CCly (D) CFCl,
13. Which of the following compound is used to complete the following chemical
equation ?
CH,COONa + _Ca0 , ey, + Na,CO,
(A) KOH (B) NaOH
(C) NH,OH (D) Ca(OH),
Sub-Section 3
14. Function of phloem in plants is :
(A) Transportation of waterand minerals
(B) Transpiration
(C) Translocation 2ffoods
(D) None of the@bove
15. In humans, digestion starts with which organ ?
(A) From mouth (B) From liver
(C) From small intestine (D) From gall bladder
16. Which of the following is a plant hormone ?
(A) Thyroxin (B) Gibberellin
(C) Estrogen (D) Insulin
17.  Growth hormone is secreted by the :
(A)  Thyroid gland (B) Pituitary gland
(C)  Adrenal gland (D) Pancreas
fod {'L\ a
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he anther ?

18. Which one of the following is formed inside t
(B) Pollen grain

(A) Calyx
(C) Ovary (D) Embryo sac
19. Reproductive organ of flower is :
(A) Calyx (B) Corolla
(C)  Gynoecium (D) Stem
20. Atmospheric ozone layer protects the Earth from : I
(B) Ultraviolet rays

(A) X-rays

(C) Gamma rays (D) None of the above
Part B

Sub-Section 1

tached to a motor-bike to
the location and position

Descriptive questions :
e at the time, as seen n
4

21. A convex mirror of radius of curvature 4 meters is at
watch any other vehicle coming from behind. Calculate
of the image of a vehicle which is 8 meters behind the bik

the mirror.

A person suffering fro

s can see up.to 80 meters. Calculate the

m short-sightednes
that he may see the
4

h of the lens to correct his vision so

22.
nature and focal lengt
objects at infinite distance.
23, What is the Fleming’s left-hand rule 9 On which factors does the force acting on a
current carrying conductor depend when placed in a magnetic field ? 4
24. Explain clearly the arrangement for a domestic electric circuit with the help of
6

diagram.
OR.
istance, (ii) Current through the cell, and
b

In the given circuit, find (i) Total res
ifference across 0-8 Q resistance.

(iii) Potential d
6Q
080Q
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25. Write balanced equations for the following reactions :

(1)

(1)

(i11)

(iv)

Calcium hydroxide + Carbon dioxide — Calcium carbonate + Water

Sub-Section 2

I+1+41+1=4

Barium chloride + Potassium sulphate — Barium sulphate + Potassium

chloride

Zinc + Sulphuric acid — Zinc sulphate + Hydrogen

Silver nitrate + Zinc chloride — Silver chloride + Zinc nitrate

268. Explain the reason for the following :

(1)

(i1)

27. )
(1i)

(iii)

2+2=4

On putting a zinc rod in copper sulphate solution, its blue colour vanishes

slowly.

Ionic compounds have high melting point.

What is neutralisation reaction ? Write its two examples.

Explain roasting with example.

Write the IUPAC n
0 .«
) [N
(jfigjssgh‘af{
S
(B) CHj-CHO

OR

Write short notes on the following :

(i)

Micelle

(ii) Corrosion

(i)

824 (IL)

Addition reactions

11

&n@\of the following compounds :
Q

1+1=2

2+2+2=6
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29.

31.

Sab-Section 3

) . 2+42=4
Describe Regeneration and Budding with diagram.
. : 4
Describe sex determination process in human beings with diagram.
242=4

Define Phototropism and Geotropism with the help of guitable diagrams.
What do you mean by endocrine glands ? Describe the functions of hormonez o

+4=
secreted by any four endocrin& glands in humans.

OR
e i 2+4=6
Define ecosystem and describe its various biotic components with example.

MRS RN
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